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GRADE 11 ESSENTIAL 

GRAPH LINES 

WORKSHEET PRACTICE 

 

1. Graph the lines given the equation (‘recipe’ for y given x)   

  

a. y = 3x + 2 
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for every 1 you run right, you rise 3 

but you start at 2 head start 
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You do a couple x’s and calculate the y  
b. y = –2x + 5 
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for every 1 you increase the x, you 

drop the y by 2 but you start at 5 
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You do a couple x’s and calculate the y  
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c. 2
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for every +4 you change the x, you 

change the y by +3 
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You do a couple x’s and calculate the y 

 

 

 

 

d. 7
5

3
+−= xy  

5

3−
=

∆

∆
==

x

y

run

rise
slope  

for every 5 increase in x, the y 

decreases by 3. 
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You do a couple x’s and calculate the y 
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e. 7=y  
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for every ___? you run right, you rise 

_____? 
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You do a couple x’s and calculate the y 

 

Horizontal Line 

 

 

f. 7)(2 +−= xy  
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for every ____? change in x, the y 

changes by _____? 
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You do a couple x’s and calculate the y 
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g. 4
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for every ____? change in x, the y 

changes by _____?. 
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You do a couple x’s and calculate the y 

 

 

 

h. 35.2 −= xy  
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for every ____? change in x, the y 

changes by _____?. 
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You do a couple x’s and calculate the y 
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2. What is the slope of each of the labeled lines? 

 

 

A.  ________________ 

 

B.  ________________ 

 

C. ________________  

 

 

 

 

 

 
 

Formulas 
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